Year 2 Multiplication - Maths Day 2 						2.6.2020  
Please use the powerpoint to help you understand more about arrays. Remember reasoning questions can have more than one answer. 
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Reasoning 
Please try to write your answers in full sentences like we expect in school – it will help you remember your skills!! Remember the GD star questions are harder so if you can’t do them, leave them out. 
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5a. Use the array to find the odd one out.
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A 2x3 B. 3x2 C.2lotsof5

Explain your answer.
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5b. Use the array to find the odd one out.
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A dlotsof 5 B. 3x5 C.5x3

Explain your answer.
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7a. Jada had 9 counters and has used
them to make the array below.

Now Jada has 18 counters.

Draw 3 arrays she could make with 18
counters.
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7b. Harry had 16 counters and has used
them to make the array below.

Now Harry has 32 counters.

Draw 3 arrays he could make with 32
counters.
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5a. Tick the correct calculation to match

the array.

A 4x2

B. 2x2

C.3x2

5b. Tick the correct calculation to match
the array.
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7a. Circle the two calculations that
match the array below.
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ﬁ A.10x3 B.2x11 C.11x2

7b. Circle the two calculations that
match the array below.

ﬁ A.4x3 B.4x2 C.3x4

8a. Use the array to complete the
calculations below.

8b. Use the array to complete the
calculations below.
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10a. True or false? If array A shows 15,
then array B shows 30.

0b. True or false? If array A shows 12,

then array B shows 26.

11a. The array below shows 5 x 3= 15.
Use your knowledge of multiplication
fact fo find two other calculations this

array can solve.
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ﬁ A 6x5 B.10x4 C.5+5+5

11b. The array below shows 2 x 7 = 14.

Use your knowledge of multiplication
fact fo find two other calculations this
array can solve.
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ﬁ A.4x7 B.7+7 C.3x8
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3a. Rose is making an array. 3b. Alex is making an array.
ojejeje|e ofefele]e]e
She says, olelelele He says,
olelelele]e
olele]e]e
My array shows 5 lofs My array shows 3 lots
of 2 and 2 lots of 5. Z of 6 and 6 lots of 3.
Is she correct? Explain your answer. Is he correct? Explain your answer.





